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Expected behaviour associated with a given
status is called :

A
B
C
D) Value

) Role conflict
) Role distance
) Role

(
(
(
(

Who has given the concept of Sponsored
and Contest Social Mobility ?

(A) R. Turner
(B) Ginsberg
(C) Fairchild
(D) Baldridge

The measurement of mobility of a person in
his complete life span is called :

(A) Inter-generational mobility
(B) Intra-generational mobility
(C) Collective mobility

(D) Sponsored social mobility

The process by which the group values are
internalised by the individual is called:

A) Assimilation
B

)
) Integration
C)

Socialization

(
(
(
(D) Accommodation

Which of the following basic symbols is used
for ‘Female’ in constructing a kinship
diagram ?
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Who has divided groups into-'Monad’,
‘Dyad’ and ‘Triad’ ?

(A) George Simmel

(B) Cooley

(C) Sumner

(D) Miller

Which of the following is correct ?
Parliament is :

(A) a representative group
(B) a sanctioned group
(C) an unsanctioned group
(D) None of these

Which group among the following is goal
oriented ?

A) Primary group
B

)
) Secondary group
C)

(
(
(C) Monad

(D) Involuntary group

Who is the author of the book, “Social Theory
and Social Structure” ?

A
B
C

(A) Radcliffe Brown
(B) Malinowski

(C) Merton

(D) Parsons

Who has propounded the ‘Classificatory’ and
‘Descriptive System’in Kinship Terminology ?

(A) Murdock
B

(C) Tylor
(D) Rivers

)
) Morgan
)

(4)
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Who is the author of the book ‘Culture and
Society in India’ ?

(A) N.K. Bose

(B) S.C. Dube

(C) G.S. Ghurye

(D) Y.B. Damle

“Sociology has a long past but short history.”
Who has given this statement ?

(A) Bierstedt

(B) Ginsberg

(C) Simmel

(D) Cuber

Who is the author of the book ‘Indian
Village’ ?

(A) Ambedkar

(B) D.P. Mukherjee

(C) S.C. Dube

(D) Yogesh Atal

Who has emphasized on Subaltern
perspective in studying Indian society ?
(A) S.C. Dube

(B) P.H. Prabhu

(C) Yogendra Singh

(D) Ambedkar

Sociology studies :

(A) Social groups

(B) Social relations

(C) Social actions

(D) All of these

Which thinker is associated with ‘Post-
Industrial Society’ ?

(A) Daniel Bell

(B) Spencer

(C) Durkheim

(D) Tonnies

(5)
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A surgeon cracks jokes with the members
of his medical team while performing an
operation. His behaviour is an instance of :

(A) Role inattention
(B) Role distance

(C) Role performance
(D) Role expectation

Which of the following are attributes of
Archaic Societies ?

1. Mechanical Solidarity
2. Predominance of Kinship
3. Contractual Relationship
4. Social Differentiation

Choose the correct answer from the codes
given below :

(A) 1and 3
(B) 1and 2
(C) 1,2and 3
(D) 2and 4

A change in social position that does not
alter a person’s status is called :

(A) Horizontal mobility
(B) Vertical mobility
(C) Structural mobility
(D) Social mobility

A group to which we compare ourselves
when we judge our own status is called :

(A) Primary group

(B) Secondary group
(C) Formal group
(D)

D) Reference group

(6)
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A geographical region that contains same
cultural elements is known as :

(A) Cultural Area

(B) Cultural Trait

(C) Culture Complex

(D) Culture Pattern

Who has given the concept of ‘Social Statics’
and ‘Social Dynamics’ ?

(A) Raymond Aron

(B) Auguste Comte

(C) Bogardous

(D) T.B. Bottomore

Who s known as ‘Father of Indian Sociology’ ?
(A) Radha Kamal Mukerjee

(B) G.S. Ghurye

(C) Irawati Karve

(D) P.H. Prabhu

First sociological department was setup in
which of the following universities in India ?
(A) Annamalai University

(B) Osmania University

(C) Bombay University

(D) Delhi University

Who has given the concepts of
Sanskritization, Westernization and
Dominant Caste ?

(A) M.S.A. Rao

(B) T.K. Oommen

(C) S.C. Dube

(D) M.N. Srinivas

When did the Sociology develop in India
as a formal and institutional subject ?

(A) 1918
(B) 1919
(C) 1920
(D) 1925

(7)
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Which of the following is not a characteristic
of Primary Group ?

A) Physical proximity
B

)
) Formal relation
C)

(
(
(C) Limited size

(D) Relationship is an end in itself

Which of the following is not an example of
Primary Group ?

(A) Family

(B) Neighbourhood
(C) Office group
(D) Play group

“The groups which provide experience
lacking in intimacy are called secondary
groups.” Who has given this statement ?

(A) Maclver
(B) Fairchild
(C) Ogburn and Nimkoff

(D) Kingsley Davis

Which of the following is a territorial group ?
A) Tribe

B) State

C)

D) All of the above

Which thinker is the author of the book
“Social Organisation” ?

Nation

(
(
(
(

A) Cooley
B) Ogburn
C) Hiller

)

D) Sumner

(
(
(
(

(8)
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Which of the following is not a characteristic
of Scientific Orientation ?

(A) Quantitative analysis

(B) Value freedom

(C) Qualitative analysis

(D) Objectivity

Who has given the following statement,
“Sociology is regarded neither as the

mistress nor as the land maid of the social
sciences but as their sister.” ?

(A) Barnes and Becker

(B) Giddings

(C) Sorokin

(D) Spencer

‘Division of Labour’ is which type of
Co-operation ?

(A) Direct cooperation

(B) Indirect cooperation

(C) Primary cooperation

(D) Non-cooperation

Which of the following is not a necessary
element of community ?

(A) Particular geographical area
(B) Permanency

(C) Community sentiments

(D) Voluntary membership

When we analyse family as a group, then it
is called :

(A) A community
(B) A society
(C) Aninstitution

(D) An association

(9)
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What is called ‘Classificatory System’ ?

(A) Using a single terminology to address
many kins

(B) Using a particular terminology to
address a particular kin

(C) Both (A) and (B)

(D) None of these

Who is the author of the book ‘Folkways’ ?

(A) Sumner

(B) Maclver and Page

(C) Durkheim

(D) Tylor

Who is the author of the book “Social and

Cultural Dynamics” ?

(A) Fairchild (B) Sorokin

(C) Merton (D) Tumer

When the society is divided in the degree

of superiority and subordination, then it is

called :

(A) Caste

(B) Class

(C) Differentiation

(D) Stratification

Who has given the concept of “Teknonymy’?

(A) Morgan

(B) Westermark

(C) Tylor

(D) Radcliffe-Brown

The relation between daughter-in-law and

Father-in-law comes under which of the

following ?

(A) Avoidance
(B) Joking relationship
C
(

)
) Avunculate
D) Amitate
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Which of the following is not a type of Family
on the basis of Residence ?

(A)
(B) Matrilocal Family
)

C

(D) Avunculocal Family

Patrilineal Family
Neo-local Family

Who has given the concept of ‘Technological
Lag’ ?

(A) Ogburn

(B) Maclver and Page

(C) Davis and Moore

(D) Spencer

Which of the following has a legal right of
use of Violence ?

(A) Family

(B) State

(C) Group

(D) Community

Who is the author of the book ‘Modern
State’ ?

(A) Johnson
(B) Parsons
(C) Maclver
(D) Durkheim

Which thinker has accepted education as
the part of the process of Social
Stratification ?

(A) Durkheim
(B
C
D

) Parsons
) Bottomore
)

Davis and Moore
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All the husbands of a woman are real
brothers in which type of marriage ?

(A) Fraternal polyandry

(B) Non-Fraternal polyandry

(C) Polygyny

(D) Sororal Polygyny

Who has studied kinship system in India ?

A) M.N. Srinivas
B) AR. Desai
)

(
(
(C) Westermark
(D) Irawati Karve
Which form of marriage represents a

widower marrying his wife’s sister ?

(A) Levirate (B) Sororate

(C) Polygyny (D) Monogamy

Who has given the following statement
“Competition is the struggle for use or
possession of limited goods.” ?

(A) Sutherland

(B) Maxwell

(C) Fairchild

(D) Green

Which of the following is not true about
competition ?

(A) Universal process

(B) All embracing process

(C) Social contact is necessary

(D) Continuously happens

Which type of competition is not given by
Gillin and Gillin ?

(A) Racial competition
(B) Competition for status and role
(C) Economic competition

(D) Personal competition
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Who has classified the co-operation as
‘Direct’ and ‘Indirect’ ?

A) Maclver and Page
B) Green
C) Ogburn
D) Nimkoff

The co-operation done for welfare of others
is known as :

(
(
(
(

(A) Primary co-operation

(B) Secondary co-operation

(C) Tertiary co-operation

(D) Companionable co-operation

Who classified values as ‘Intrinsic’ and
‘Instrumental’ ?

A) Sumner

B) C.M. Case

C) Radha Kamal Mukerjee
D) Elliott and Merrill

“When the folkways add on a philosophy of
right living and life policy of welfare, then
they become mores.” Who has given this
statement ?

(A) Sumner
(B) Green

(C) Dawson
(D) Maclver

Which scholar has studied about the
structure and function of Andaman Island ?

(A) Nadel
B
C
D

(
(
(
(

) Radcliffe-Brown
) Merton
)

Durkheim
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Which of the following is a type of

Complementary Role ?

(A) Independent role

(B) General role

(C) Relational role

(D) Role distance

Which of the following statement is wrong

about Parsons’ ‘Sick Role’ ?

(A) He criticized the sick persons

(B) He called sick individual as a non-
productive member of society

(C) Sick person should be exempted from
normal social roles

(D) All of the above

Which of the following resembles today’s

complex societies ?

(A) Gemeinschaft

(B) In-group

(C) Gesellschaft

(D) Reference group

Who gave the following statement- “Group

is an aggregate of organism in which the

existence of all is utilized for the satisfaction

of some needs of each.” ?

(A) Maclver and Page

(B) R.B. Cattell

(C) Ogburn and Nimkoff

(D) Green

“The status of a son is less powerful in

comparison to the status of a father.” What

above statement indicates ?

(A) Status set

(B) Status evaluation

(C) Status ambiguity

(D) Social stratum
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A person is a student then he becomes
medical Intern, after that Resident and then
Doctor. This denotes which of the following?

U ARp TH B &, X a8 Afeda e
T 2, R oee R Y ws St 7'
frd g aar g ?

(A) Key Status (A) g g
(B) Status ambiguity (B) wRYfd wievear
(C) Informal Status (C) iv=niRes wfkefe
(D) Status Sequence (D) Rt A
65.  Which of the following is not an achieved  65. /= & § H9-d u oidfa uRafy T2 8 ?
status ? (A) C‘FI%[‘J qa=
(A) III?g|t|mate child ®) wer it
(B) Middle class .
(C) Doctor (C) =it
(D) President (D) g
66.  Who has given the concept of ‘Role  66. ‘it &0’ I raeen fhee & 2 7
Distance’ ? (A) g@ﬁq
(A) Durkheim (B) W&
(B) Merton N
(C) Goffman (©)
(D) Linton (D) e
67.  Match List-l with List-lI - 67. -l H -1l B | PR i
List-| List-|l el -
(a)|Couvade 1 . [Family (a) |Tev@faar  |1.|9RErR
(b) |Primary Group |2 . |Endogamy - o
(c)|Caste 3 . [Kinship Usage (b) |5 HEE |2
(d)[Clan 4 . |Exogamy (c) | 3. |aerd g
(d) |7 4 . |afetdare
Code :
@ (b (© () *
(@) (b) (c) (d)
A3 4 1 2
A3 4 1 2
B4 3 2 1 B 4 3 2 1
C4 1 3 2 C4 1 3 2
D)3 1 2 4 b)ys 1 2 4
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68.

69.

70.

.

2.

SOC/A070101T-B/14210

Who has given the following definition of
State- “The State is an association that claims
the monopoly of the legitimate use of
violence and cannot be defined in any other
manner.” ?

(A) Garner

(B) Gillin and Gillin

(C) Maclver

(D) Max Weber

‘Religion is a mode of action, as well as a
system of beliefs and a sociological
phenomenon as well as a personal
experience.” Who has given this statement ?
(A) Majumdar

(B) Malinowaski

(C) Tylor

(D) H.M. Johnson

Criticizing the ‘Bound Feet Tradition’ of China
is an example of :

(A) Absolute cultural relativism

(B) Critical cultural relativism

(C) Multi culturalism

(D) Pluralism

Who is known as the father of the concept
of Cultural Relativism ?

(A) Alain Locke

(B) Robert H. Lowie

(C) Franz Boas

(D) Elizabeth Zechenter

Who has given the following definition about
Education - “Education is formally
concerned with the transmission of the social
heritage to new generations.” ?

(A) Gisbert (B) Plato
(C) Weber (D) Durkheim

68.

69.

70.

1.

72.

(16)

T # I8 REw e & & ‘T @
g | 2 fras ow B 3 g wae @
THITYER Bl & SR R fee o &1 &
U e @ ST Hebar 3177 7

(A) TR

(B) fifer wdr ffer

(C) Heprga

(D) A AR

‘e b @ wH Y § OIR W & A
frsamet @ T e fl g6 T THeEE
q 8N & A & U AR AgHd A 81
78 BT fpe ® 7

(A) AR

(B) dferaent

(C) ¥

(D) Tar.uH. SEA

A AT ST B I B ST SR
g

(D) SgTEE &
i HIUEaE & STaEReT & % i & 7

(A) T i

(B) e wa.

(C) Thot et

(D) Tty Shvey

farem <t @i afvemn fpem & B, farem @ oved

72 difeat B Muenie &7 & g fHd
& BEAARG BT 817 7



73.

74.

75.

76.

7.
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Who is the author of book “The Study of
Man” ?

(A) Kimball Young

(B) S.S. Sargent

(C) Merton

(D) Ralph Linton

Who gave the following statement - “Society
is the collection of individuals united by
certain relations or modes of behaviour
which mark them off from others, who do
not enter into those relations or who differ
from them in behaviour.” ?

(A) Ginsberg

(B) G.D. Mitchell

(C) Parsons

(D) Giddings

‘Constitution’ comes in which category
among the following ?

(A) Institution

(B) Association

(C) Interest group

(D) Social function

How many types of Tertiary Relatives are
given by Murdock ?

(A) 150

(B) 155

(C) 151

(D) 152

Who has given the following statement about
marriage — “Marriage is an institution for
admitting men and women to family life.” ?
(A) Westermarck

(B) Bogardous
(C) R.H. Lowie
(D) Gillin and Gillin

73.

74.

75.

76.

17.

(17)

‘T wE e B qEE B aEd B
g7

(A) T I

(B) TH.TH. I

(C) =

(D) A% feroed

TR FE A &- CFE O el @l
HIE § S B ! ofeal e Hi Aty
ER Hed & S 37 S o Afhdl § R
FIA 2 SN 9 TER B wEE EN 99 g
T & oFeE S FEaER I R 217 ?

BERER
(B) si.2tr. M
(C) U

(D) M
digge 7 & ¥ -4 o0 F emar B ?

(C) fe wgE
(D) TS
TEh &N e FR & Jae TeR
AR W 7 ?
(A) 150
(B) 155
(C) 151
(D) 152
fare & fow § wga HE fRREe R &-
“foare i AR T5T P TRARE e o Fas1
FW ar g 21 ?
(A) IS
(B) srTEH
(C) MR.Tg. Wt
(D) Fifert wd Fifers
[PTO]



78.

79.

80.

81.

82.
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What do you understand by Informal
Education ?

(A) Education provided by school
(B) Education provided by college
(C) Education provided by family
(D) None of these

Which of the following is not a characteristic
of State ?

(A) Use of legitimate force

(B) Interdependence

(C) Comprehensiveness

(D) Lack of existence of boundaries
Which of the following is a characteristic of
Civilization ?

(A) Non-material nature

(B) Means, not an end

(C) Concerned with inward conducts

(D) Non-changeable

“‘Culture may be defined as a system of
derived needs and an organized system of
purposeful activities.” Who has given this
statement ?

(A) Tylor

(B) Malinowski

(C) Maclver and Page
(D) Kroeber

Who has divided culture as ‘Material’ and
‘Non-material’ ?

A) Kroeber
B) Kluckhohn
C) Ogburn
)

(
(
(
(D) Majumdar

78.

79.

80.

81.

82.

(18)

SRS e & o F: T § 7
(A) Tl BT Y& b T R

(B) icsT &I J&M &l T e

(C) 9RAR &I Ya™ & T e

(D) 7 | g &

Fre & & -8 o T @ Qe @
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(D) SFuRacg

“EEHTT O SIS I T e oK
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83.

84.

85.

86.
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Which of the following characteristics are  83.

found in the little community ?
1. Self-sufficiency

2. Homogeneity

3. Hegemony

4. Associations

Choose the correct answer from the codes
given below :

Code :

(A) 1,2,and 3
(B) 1and3
(C) 2and 4
(D) 1and 2

Animal Society is based on which of the  84.

following ?

(A) Instincts

(B) Reflex behaviour
(C) Both (A) and (B)
(D) None of these

Which of the following type of Animal  85.

Society is not given by Kingsley Davis ?
(A) Insect Society

(B) Animal Culture Society
(C) Mammalian Society

(

D) Primate Society

Which of the following is not a characteristic ~ 86.

of Human Society ?

A) Lack of cultural heritage

(A)
(B) Regulated sex behaviour
(C) Memory

)

D) Awareness

(19)

=1 & & B fadvad @g aeE 7 ar
ST © 7

-

2. THET
3. T

4, wiafer

Fr=ticid i 7 | Hel STl =T il :
"cQ?c_':

A 1,231 3

(B) 13X 3

(C) 2 3% 4

(D) 1 2

Fret & @ fh @ Oy ST oG © ?

(A) I s
(B) ufted =aer

—_

(C) &t (A) T (B)

(D) 7 | g &
F=t & & Pi9-a1 Uy T & TR
S| 7 7 R B ?

(A) FIT-IeRT FHST
(B) Uy He&pier HHI
(C) T FH ST
(D) TX-aFR |

= & 9 B9-9 99 99 i faQar e
g

(A) HiEpic fored @
(B) Faf 4 &FaeR
(C) wor qifh
(D) STNTEaT
[PT.0]



87.

88.

89.

90.

91.
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Who has written the book “Netherlands
India” ?

(A) Hasio

(B) Maclver

(C) Weber

(D) J.S. Furnivall

Which of the following is false about
‘Co-operation’ ?

(A) It is a universal process

(B) It has divisible goal

(C) It is a continuous process

(D) It can be a conscious process

Which of the following is true about ‘Norms’ ?
(A) Not dependent on circumstances

(B) Related to unreal situations
(C) It acts like a control
(D)

D) Can be separated from human
behaviour

................. " is a way to enforce rules
through rewards for positive behaviour and
punishments for negative behaviour.

(A) Mores
(B) Folkways
(C) Sanctions
(D) Norms

Who foremostly gave the concept of
‘Reference Group’ ?

A) Merton
B) Hymen
C

(
(
(
(D)

)
) Cooley
)

Sumner

87.

88.

89.

90.

91.

(20)

(D) S.ug. HiHard

AT & fwg § =4 8w oo
g7

(A) 98 TH A JEAT ©

(B) 30¥ @&d WY B ©

(C) I8 T &aq MR B

(D) 98 TH a9 URAT B Tl ©
= & 8 F|1 Arevs’ & g § 9w
g7

(A) aRftfodl 9 FeiR @ g

(B) #edies aRfRafeal @ awaftaa

(C) & fwd=or i dXE Fd Ha §

(D) AT FEER | STeRT fpaT ST Tl &

AR FHHS FIeR & T U8 & qrew |
fremt o AR A B AGH B

(C) orgsmidd

(D) HES

‘Fad TE dl ATUROT HAGH e g
P ?



92.

Match List-I with List-Il : 92.

List-lI
(Dominant type of
values )

List-1
(Societies)

(a)

Folk . |Individualism

(b)

Industrial . |Fealty

(c)

(d)

1
2
Feudal 3 . |Associationalism
Post-Industrial |4 . |Collectivism

93.

94.

95.

SOC/A070101T-B/14210

Code :

A1 3
B)1 2
©) 4 1
D2 4 3 1

D)

Who has given the following statement- 93,

“Sociology is the systematic description and
explanation of society viewed as awhole.” ?

(A) Maclver and Page
(B) George Simmel
(C) Giddings

(D) Max Weber

Who has given the theory of Naturism ? 94,

(A) Max Muller
(B) Tylor

(C) Frazer

(D) Durkheim

Who has given the concept of ‘Sacred’ and  95.

‘Profane’ ?

(A) Britt

(B) Durkheim
(C) Max Weber
(D) Pareto

(21)

QEl-| & el & | el it

- -1

(@) | (o )
(a) | 1. |aafpare
(b) | STrenfis 2 .|
(c) | ar~arat 3 .| gEarE
(d) |STR-siENfs |4 . |d9earE
E@':

@ (b) (c) (d)

A1 3 2 4
B 1 2 3 4
C4 1 2 3
D)2 4 3 1

TR FO R B- I 99 €9 9
‘TENT N PHSS 9O Q9 e 817 7
(A) e Td U

(B) Sifst e

(C) P

(D) A I

T H R e femm 7

(A) HeF T

(B)

(C) %X

(D) g&M™

‘FEROY A ‘UfeEr’ T ergEren R &

CENK
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96.

97.

98.

99.

100.
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Who is the author of ‘ldeology and Utopia’ ?
(A) Karl Mannheim

(B) Ginsberg

(C) Johnson

(D) Radcliffe-Brown

Who has given the following definition of
Social Structure- “Social Structure can be
defined as identifiable patterns of roles that
are recognized primarily around the
fulfillment of some social function or
activity.” ?

(A) Light and Keller

(B) T.B. Bottomore

(C) Smelser

(D) Ginsberg

Who foremostly used the term ‘Social
Structure’ in Sociology ?

(A) Herbert Spencer

(B) Merton

(C) Durkheim

(D) Auguste Comte

Who has called “society as a network of
statuses” ?

(A) Maclver and Page

(B) Parsons

(C) Lindgren

(D) Bierstedt

Who has given the concept of ‘Status Set’ ?
(A) Linton

(B) Merton
C
(

)
) Davis
D) Ogburn

96.

97.

98.

99.

100.

(22)
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(A) Fret e
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(C) Sita
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wﬁzﬁmzﬁﬁwﬁmﬁm&ﬁﬂ%
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A) TEE T e
(B) &.§t. SR
(C) TaEx
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THEISTE § G ST S5 & AN
Ay e far ?

A
B) #eH

il

D) ST @i

“gEIST Rl @ dET-aFr e el
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(A) FepEa T O
(B) arEw

(C) fefedm
(

O

(
(
©)
(D)

D) sREIE

et §or i sreren e @ R 7
A) feroeq

B) #eH

C) Sfaw

(
(
(
(D) SffTest

)
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4, Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.
8. There will be no negative marking.
9. Rough work, if any, should be done on

the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

1. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.
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